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- SAP90, SAP2000
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4)

(SAP2000N)
3 (Shell)

1)
. (Shell Type Roller Gate)
: 35.800Bx 3.700H ( x )
: 132.737 Ton
: SM41B
| : 25mm], [312 Shell ]
| : 22mm], [210 Shell ]
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| : 22mm], [210 Shell
| : 30mm], [245 Shell

(Diaphragm): [ : 16mm], [15x% 42 Shell

2m
Q=A1V1=A2V2
(2mx 35.8m)x 4.2m/s=(3.5mx 358m)x V
V2= 24m/s
2m
(300T on/ s) (4.2m/s)
: 1,000 DWT
160 Ton
W1ldm x L30.72m x H2.2m
M omentum
F=mx v/t F: (160/9.8T on)
= 160098 x 24/ 1 V : (24m/s)
=392 Ton t: (1Sec)

(2 Pw)
>Pw =y - hc A(358x 3.7=13246)
= 1.0x 1.85x 13246 = 24551T on

2m
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